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0032 ~C= sz} 3} ADECe|A DE=DCe|o&
/DEC=zsC=2zx
W ZADE=2C+ «2DEC=22x
AAEDo|A EA=EDo|ug
2DAE=2ADE=2-x
% AB/DE°|n&
ZAED=/BAE=44" (8lZ})
wheba] 44° 422 2 +2 2 x=180°0| L&
42=136° .. Zx=34°
S 2C=34° B®

01 Mzfsie| Mal(1)- 9



xHMIEE Fol

0033 2A=_~x2}3H AABCo|A BA=BCo|2&

ZACB=sZA=2zx

. Z2CBD=2s2A+2ACB=22x
ABCDelA CB=CDo|=&

2CDB=«CBD=22x

. 2DCE=2A+2CDA=32x
ADCE9|4 DC=DEo|=&

2DEC=«2DCE=32x
ufzka] AAEDOA

80°+ Lx+3-22=180"

4/ x=100° . Lx=25°

£ A=25"

0034 AABCelAd AB=ACo|=2

4ACB=%>< (180° —72°) =54°

g 4DCE=%X (180° —54°) =63°
ABCDoJA CB=CDe|2&
/CBD= /D= /z

welA 2 £ xr=63°0| & £ x=31.5°

0035 AABCo|4 AB=ACo|m &
/ABC= % % (180° —80°) =50°

. AABDzé X 50° =25°

ulaba] A ABDO)A

2ADB=180°—(80°+25°)=75"

0036 A ABCeA AB=ACeo|m=

/ABC= AACBzé x (180° —40°)=70°

. ADBc—; X70°=35°,
/DCE=1L x
2

whepa] ABCDOA]
2z=2DCE— £DBC=55"—35"=20°

x (180°—70°)=55"

0037 AABCo|- AB=ACo|u 2
/ABC= AACBz% x (180° —24°) =78°

. ACBDZ% X 78°=39°
LACDZ%AACEOIEE

4ACD=% % (180° —78°) =34

10cgerai g0l

25°

&31.5°

B®

B®

ulzba] ABCDoA

ZD=180°—(39°+78°+34°)=29° @

& 29°

AT 0
@ ~CBD2 57|12 -‘rLEerll: 50 %

o AChel o % o —

o el S Ay

0038 «BDE=2CDE= za2} 58 ABEDo|4 BE=DE

o|jB 2 <DBE=~a
ABCDoA #C=90°0c]|2& 3/a=90°
o Za=30°

ujzpa] ABEDO]A] 2CED=za+ 2a=60° 60°

0039 EJ’ENEE /DAC= 2 ACB=30° (317})
AACDeA DA=DCo]= &
ZD=180°"—2x30°=120" B0G

0040 (1) B2z 9f 3t izke] 271

180)(—5(5_2):108° . /B=108° S
(2) AABCo4 BA=BCo|u &
4BCA=%><(180°—108°)=36° e
. ZACD=2BCD— 2BCA
—108°—36°=72° e
(1) 108° (2)72°
[ mmre [ uiE ]
O sBABI”SRUL %
@sBCACIEPE4UL %
@ 2 ACD2 3712 EFA?lr—f 20%
p SSEN (7 pzsts
HCizisle) Lzt elzie) 37|

Hn 2430
@ uiztel 371] 8 180° X (n—2)
@ 8t Lzto] 37: 180° Xn:: n—2}
® 9Jzte] 3710 B 360°

@ 8t 9lzto| 37): 360

0041 AABDoA 2 ADB=90°
x=180—(90+52) =38

£ BD=CDe|u&  y=8+8=16
Soxty=54 EHG,

, /B=,C=52°0|n&



0042 AABCol|4 AB=AC, ~BAD=/CADo|2&
2ADB=90°, BD=CD

wjebd BD=1 x10=5(cm)°|2&

AABD:%XSXBZZO(ch) & 20 cm®

0043 AABCSF AADCA
AB=AD, BC=DC, ACE 5%
ojz2  AABC=AADC (SSS &%)
. ZBAC=2DAC
wjb ACE: o5 HAZIE ABD2| Bx|z}e] o] GiAlo|ma

BE=DE = x 12=6 (cm) B®

0044 AABCo4 AB=AC, 2BAD= ~/CADo|=&
2 ADB=90°, BD=CD

wj2b AABDE] ylolelA]
1 xABxDE=4 xBDxAD

1 24 1 e . Be
Exle?_szDxﬁ .. BD=8(cm)
- BC=2BD=16 (cm) E6)

0045 AABCol|A AB=ACo|ng

2 ABC= LCZ% % (180°—36°)="72°

- 4ABD=% X 72° =36°

= /A= 27ABDo|E& AABDE: AD=BD?l o]5#4lz}
Foltt.
= AABDoJA

2BDC=2A+ 2ABD=36"+36°=72°
= ,C=/BDCeol=2 ABCDE BC=BDS o584zt
olct,

- AD=BD=BC=8(cm) E8cm
0046 AADCo|A £A=2ACD=45"0|2&

AD=CD=4(cm)
ADBCo|A #B=2BCD=45°0|2 &

BD=CD=4(cm)

. AB=AD+BD=4+4=8(cm) 8 cm
0047 @ » 2ACB B®

0048 AABCOIA  2B=180"—(30°+90°)=60°
ADBCo||4 DB=DCo|2 &
ZDCB= 2/ B=60°

o =21 14~173

u}ebx ~BDC=60°0]22 ADBC: A4kztao|c},
~. DB=DC=BC=5(cm)
g 2 DCA=90°—60°=30°0] L&
<A=,DCA
mjzbA] ADCA= DA=DCS] o5zl go|m g
DA=DC=5(cm)
- AB=DA+DB=5+5=10(cm) 806

0049 ADBCeA
/DCB=/ADC— /B=70°—35"=35°
olmg  BD=CD
T AADCOfA
/DAC=180°—110"=70°
olm&  AC=CD
. AC=CD=BD=12(cm)

0050 AABColA £B=«ColER
AC=AB=16(cm)

o2 I3} go] APE 10w

NABC=AABP+ AACPo|ER 2

72:%x16x@+%x16xﬁ

72=8(PD+PE)
. PD+PE=9(cm)

0051 AABCe|A AB=ACe|u=g

F A2 BPQ, MPCellA
Z2Q=90°—2B=90°— 2C=2CMP

ol ~ AMQ=~CMP (2&x]z})o|ng
ZQ=2AMQ

whA AAMQE AQ=AMSI ol g4z ol B R

AQ=AM=JAC= x8=4(cm) BO

ZB=2C

0052 (1) ZFEG= 2DEG (&< 7}),
/FGE= 2DEG (81z})ojnz
/FEG= /FGE
4FEG=%><(180°—40°}=70°
(2) AEFG EF=FG¢l o]5u4lztglo| o g
FG=EF=6(cm)
F(1)70° (2)6cm

0053 #GEF=2DEF (% 7}), «DEF=2GFE (%17})
SIEES

01 aztgel g o - 1




\
s AEMIEE Fol

2GEF=2GFE=180°—105"=75"
. Zx=180°—2x75°=30" £ 30°

0054 © AD/BColu&
< FEC= 2GFE (%iZ})
ZGEF= £ZFEC (H& 7}) o2& AGEFoA]
2 AGH= ZEGF (2227}
=180°—( ~GEF+ 2GFE)
=180°—( «FEC+ «FEC)
=180°—2/FEC
@ (@ol|4] 2GEF= «GFEo|=2& AGEF: GE=GF?l o]
SRz golrt.
ool A H& A2 @, @o|tt, ®
0055 2E2% 13ofA
2/CBD=2ABC (H& 7},
< ACB= ~CBD (3iZ})
o]_t_l__%
< ABC=~-ACB @
whebA AABCE AB=ACS] o5 Walzlgo|ng
AC=AB=8(cm) )
" AABC=1 x8x5=20 (cm’) >

20 cm®

e s

0 éABC AACB%@ %*—’.‘*—9,1[.'_} 40%
@ ACo| Z0|= 78 4 Uk, 0%
© AABC2| 0|8 718 4 Uct, | 0%

0056 AABCEF ARQPoA
/B=,Q=90°, AC=RP=5(cm)
AB=RQ=3(cm)

olmg  AABC=ARQP (RIS 3%)

AGHISH AJKLoA]
21=2L=90°, GH=JK=6(cm)
ZH=90°—40°=50°= /K

olmg  AGHI=AJKL (RHA %)

B 20| =
0057 B ¢h ~.CEB hBC & RHA

0058 @ RHA 35
@ SAS 35

@ RHS 5
® ASA 3Hs
BO

12cgeraiEoft

0059 ® ©h RHS B®

0060 @, @ AABD2} ACAE|A
2ADB=2CEA=90°, AB=CA,
2BAD=90°— 2CAE= 2 ACE

oluz  AABD=ACAE (RHA %)

@ DE=DA+AE=EC+BD=6+8=14(cm)
® (A2 DBCE®] §o]) = x (DB+CE) x DE
=4 x(8+6) x 14=98 (cm’)
8@

0061 AAPC2} ABPDoJA
2 ACP= /BDP=90°, AP=RBP,
< APC= ~BPD (4E=#]Z})

ol  AAPC=ABPD (RHA &%)

w2} BD=AC=5(cm)°o|E&
r=>5

T 2~ APC=2BPD=90°—50°
y=40
Soxty=45 E 45

=40%0|2 &

0062 ABDE2} ABDCeA
/BED=/C=90°, BD:= 2%,
2DBE= 2DBC

olm&  ABDE=ABDC (RHA &%)

w}e}A BE=BC=6 (cm)o|22
AE=AB—BE=9—6=3(cm) B 3cm

0063 ABDM} ACEMO||A]
2D=2CEM=90°, BM=CM,
#BMD= 2 CME (3+%%]7})

ojug  ABDM=ACEM (RHA &%)

w}2}s] BD=CE=4(cm), DM=EM=2(cm)o|2& o

)

AABD=§ x4x (8+2)=20 (cm’) e

& 20 cm’

AT 0
0 ABDM= &CEM%I%%’-’,‘—Q}EL 0%
@BDDMezZoETEAR. | 0%
© AABD®| 50I8 7 4 ct. 2%

0064 AABD2F ACAE®]A]
/BDA=/AEC=90°, AB=CA,



< ABD=90°"— »BAD= ~CAE

olm2  AABD=ACAE (RHA &%)

2] AD=CE=13(cm), AE=BD=8(cm)°o|==&
DE=AD—AE=13—8=5(cm) B®

0065 A ABF2} ABCGelA
ZAFB= 2/BGC=90°, AB=BC
Z/BAF=90°— ~ ABF= ~CBG
ol=2  AABF=ABCG (RHA &%)
. BF=CG=2(cm), BG=AF=3(cm)
ujep] FG=BG—BF=3—2=1(cm)°|2&

AAFG=%><1><3=%(cmE) B®

0066 ~AADM} ACEMol|A|
£ ADM= 2CEM=90°,
AM=CM, MD=ME
olmz  AADM=ACEM (RHS %)

L ZLA=2C=30°
uleba] A ABCOA
ZB=180°—2x30°=120° B®

0067 (1) ABCD2t ABEDe]|4|
2C=«BED=90", BD:= 3%, BC=BE
olug  ABCD=ABED (RHS %) @

. ZCBD=ZEBD= x (90°~52°)=19° o

(2) DE=DC=3(cm) O
E(1)19° (2)3cm
T S T
© ABCD=ABEDYE & 4= O'Ef A0%
o L CRDel g e g
bpelb e o

0068 AABC2} ADBEe®]A|
2B=90°, AC=DE, BC=BE
olm®2  AABC=ADBE (RHS %)
. /DEB= 2 ACB=90° —27°=63°
ubebA Alzle EBCF ol A
90° +63°+ 2 EFC+63°=360°
. #EFC=144" 144°

0069 ~AABD2} AAEDo]A
/B=2AED=90°, AD-= 2%, AB=AE
olmg  AABD=AAED (RHS 3H%)

©F AL

e 21 17~213

. Z/ADE= .,/ ADB=90"—32°=58"
L Zx=180°—2x58°=64° 2@

0070 ABMD2} ACME®||A]
2BDM= ~CEM=90°
BM=CM, MD=ME
ojmz  ABMD=ACME (RHS 3%)

" ZB=2C=5 % (180°—50°) =65°
whebA ABMDoJ A
/BMD=90°—65°=25° .. =25
E AABCE AB=AC?Q! o] 5wzt go|ng
AC=AB=6(cm) Coy=6
. xty=31 B 31

0071 AABCollx ~C=90°, AC=BCo|m&
/A= /ABC=45°

E AAEDoJ|A
ZEDA=90°— 2 A=90° —45°=45°

ol AAEDE ,E=90°0]1 AE=DEgSI &zl 514z}

ok,

oluf ABDE2} ABDCof|A]
/DEB=,C=90°, BD-= 3%, BE=BC

ojlm & ABDE=ABDC (RHS &%)

w2t DE=DC=8 (cm)o|=&
AAEDz% xﬁxﬁz%xSszsz (cm?)

F 32 cm®

0072 AAOPS} ABOPOjA
2#PAO= 2/PBO=90°,
OP: 3%, PA=PB
ol=&  AAOP=ABOP (RHS &%)
- AO=BO, #APO= ~BPO, 2 AOP= ~BOP
B®

0073 AABD®F ACBDelA
ZA=2C=9°, BD% %%, AD=CD

olmz  AABD=ACBD (RHS %)
. ZABD=2CBD

Atzke ABCDeJA]
2 ABC=360°

- 4x=%><40°=20° & 20°

—(90°+140°+90° ) =40°

01 azizel g (1) - 13



AHMIEE Fol

0074 e2% 133} o] A Dol AB
of gl =419 -2 Hel sk AADHS2
AADCO|A

ZAHD=2C=90°,

AD: 3%, ~,HAD=-CAD
ojlmg AADH=AADC (RHA 35)
e A] m=ﬁ=4(cm)ol-€'§-

&ABD—

& 26 cm®

x13%x4=26 (cm®)

0075 AADES ACDE®|A]
AD=CD, ~ADE= 2CDE, DE: %
ojug  AADE=ACDE (SAS %)
w ZDAE=2DCE= 2z
A ABESH AADE®]A
/B=/ADE=90°, AE #%, BE=DE
olzz2  AABE=AADE (RHS %+5)
S 2BAE=sDAE=/x
ukaka] AABCojA]
2/x+90°+ 22x=180", 32x=90°
. Zx=30° B®

0076 AAEDS} AAFDoA
2AED=2AFD=90°, AD: 3%,
DE=DF
olmg  AAED=AAFD (RHS #5)
. ZEAD=/FAD=90°—65°=25°
. ZBAC=2x25°=50° BO®

0077 AAEDSF AACDOA

Z2AED=2C=90°, AD:= 3%,

2EAD=~CAD
olm®  AAED=AACD (RHA &%) P

. AE=AC=3(cm)

" BE=AB—AE=5-3=2(cm) -0
% ED=CDo]|2&

BD+ED=BD+CD=BC=4(cm)
ufzbal ABDES] Ed|9] Zoj=

BE+BD+ED=2+4=6(cm) @

E 6 cm

[ mE &
0 AAED=AACDYZ & 4 9k, D%
g st
© ABDE®| S2{o] 20|12 71 %= I}, 0%

14 cgerdigol

0078 ==) AABCOIAM £B=2CE 0I2510] &80l & Mz
2 =
oD AEBCQ} ADCBeIA]
BE=AB—AE=AC—AD=CD,
2EBC=2DCB, BC: 2%
olmz  AEBC=ADCB (SAS %)
. CE=BD, #~ECB=/DBC

olollA &2 AL (), (), @]}, B®

0079 =2 2BAD=<a, £B=25b2} &t 2a, 2bof CHEL A

ZUPHAIS MI2C

#0) BAD=za, ~B= 2b%} 54 AABDoA|
ZADC=2za+ 2b

ACEDOA 15°490°+( 2a+ 2b)=180°0| 2 &
Za+2Zb=75° e a

AABCo|A AB=ACeo|2 2
2ACB=«B=2b

oluf ~ BAC=32BAD=3.sqg°|2=2

3/a+2,b=180° e ©
@, OZ AYsle] 2 £a=30°, £b=45°
. ZBAD=30" & 30°

0080 ==) ACDEZ} CD=CE?! o|StiAIZIsi0|o2

ZCDE= 2CEDYZ o|23ic},

20) /CDE=2CED= zaz} 5hH
£2B=2C=180"—2Za,
<BDE=180°— za

ABDF o)A (180°—22a)+(180°— 2a)=150°
32£a=210° . Z£a=70°
. Z~/CDE=70" B 70°
0081 =) o|sStiMzisiol &= W2io| 57|= M2 Z22 02!t

20) ~CDE=2B= zz2} 51 ABCDoJA
#DCB=180°—2/x
. ZACB=24°+(180°—2/2)=204°—2/x
AABCo|A AB=ACo|m&

2B=2ACB
& £x=204"—22x0|B2
3£ x=204° L Lx=68°
. ZCDE=68" E 68°

0082 #&) ABDF=ACEDYS 0|25 ~FDES| 27|12 75t
Ct,

20) AABCo|A AB=ACo|2&



AB=LC=%X (180° —56°) =62°

ABDF ¢} ACEDo]|A]

BD=CE, BF=CD, zB=2C
ojuz  ABDF=ACED (SAS &%
.. DF=ED, #BFD=~/CDE
ajzbA] ADEF|A 2DFE= 2DEFo|i
/FDE=180°—( 2.FDB+ ~CDE)

=180°—( ~FDB+ ~BFD)
=s/B=62°

S ADFE:% x (180° —62°) =59°

2o 2% Ty o] H AF Ay ¢
BColl a3t 2418 “10) CM 9] Al
Thts 7S Nojzt 3k AANM}
ABCMellA A M B
AM=BM,
2 AMN=/BMC (2%2)2}),
<NAM= B (9lz})
ol=&  AANM=ABCM (ASA &%)
ujzp] AN=BC=ADo|=& AANDe|A]
#N=-ADN=36"
o 2C=2N=36° (%i7}) 8®

ZADC= zz2} 6t #BACS| 72 £ 20f| CHSH A
SR LieHHCY,
o) AACDoJ4 CA=CDolug 2ADC=,CAD=/z
2} 3}H
«BCA=2sx
AABCo|A BA=BColuz
sBAC=sBCA=2-2
oA 2L 2+ £ 2+ 78°=180°0| D&
3,x=102° .. Zx=34°
. ZADE=180°— £ x=180"—34° =146"
& 146°

0085 =) ~COE= <x8} 5l £ AOBQ| I7|E ~x0f CHEH 4
o= LIEHCE,
o) AOCDo|A CO=CDo|=& D= ~2COD= £ ze} 3hd
20CB=2szx
AOBCol4 OB=0Co]2
20BC=20CB=22x
AOBDof A £ZAOB=2sx+s£x=32x

<5 23 21~23%
.. AB:CE=/AOB: ~COE
=3Zx. Zx
=3:1 =)
SSEN (L) sz e
3t 2lofN 9| Zol= B4zie| A7 HulEE D

E}' "
& AB : CD=2AO0B: ~COD
@Y

B

0086 z=) £Q=sz2tstn AABCS| M LHZte] 3712 212t 22
oll chst Alo =2 LIEfHCY,
o) ACQPoA CP=CQol2& ~,Q=-,QPC=sxe} 3}
#PCB=2sx
AABCo4 AB=ACo|m&
+ABC=2ACB=2/x
- ZPBA= ZABC=Zz
AABPo|A PA=PBo|E&
A= /PBA=szx
wtaba] AABCo)A
Lx+2s2+222=180°
5,x=180° .. Zx=36°
L ZQ=36° 36°

0087 zi=r) Hezigo| 5t Lizie] 27|12 718t £ olStHMIEC] 4
S 0|Z8it.
o) Jeztgel gt e a7l

180 ><5(5—2) .

AABEo|AH AB=AE¢|m&
LABE:% % (180° —108°) =36°

80

ABCAoA Z2 e 31

weka] AABFO)A
ZAFB=180°—2x36°=108"
. 2CFE=2AFB=108" (9% x]7})

ZBAC=36"

108°

0088 #z) AD7} BC2 $Xl0|SEES 0|83ict,

EoD AD7} o542ty ABCO| %x|2}9] o)Al e
BD=CD, 2#ADB=/ADC=90°

APBDE} APCDo|A
BD=CD, «BDP= 2CDP, PD: 3%

olmz  APBD=APCD (SAS ¥%)
. PB=PC

wteb] APBCE 2 BPC=90°, PB=PC2l 2|z}o] 5473

01 azi&el g (1) - 15




LM BE Bol

o2
2PBC= 2PCB=45°

E APBDS} APCDeA] ~BPD= 2 CPD=45°0]22
BD=PD=CD=5(cm)
-. BC=BD+DC=5+5=10(cm) B®

0089 =) Lzl 27t 22 AZFS OISHAZHUS 0I8
Bict.

20) «BAC: 2B=3: 194 2BAC=3«B
oltf ~BAC=3«BADo|2g8  /B=_,BAD

ujebd ADAB= AD=BD?! o|5ualzgo|c},
% 2 ADC=22sBAD= #DACe|=& ACAD:= CA=CD
9l o542z o]},
. AD=BD=BC—CD=BC—CA
=12—6=6(cm) B86

0090 ==) AADB=ABECE 0|85l DB, BEQ| Zo|g +
sict.
&) AADB ABECO|A
/D=,E=9°, AB=BC,
2 ABD=90°— 2 CBE= #BCE
olm2  AADB=ABEC (RHA %)
. DB=EC=3(cm), BE=AD=4(cm)
o AABC
= (A}e]E ADEC] Hol)— (AADB+ ABEC)

_ 1 (1 1
=2 % (3+4) X (3+4) (2 X 4X3+ 5 ><4><3)

25

_ 49 25 o
= E]zcm

19— 25 2
5 12—2(cm)

0091 #&) AADE=AADCYS 0[50 BEQ| Zi0|E FBIt,
Eol) AADESF AADCoA
#AED=2C=90°, AD-= 2%, DE=DC
oo AADE=AADC (RHS $%)
et AE=AC=8(cm)o|2&
BE=AB—AE=10—8=2(cm)
CD=ED=x(cm)z2} 611 AABD2] §lo]oiA]

1 1 _
jxloxx—z X (6—x) %8

br=24—4dx, 9xr=24

Soa= g

. _1 8 :
..&.BDE—2><2><3 cm

|
w|oo
—
o
3
o
=
@
w|oo
w

16 <geras gof

0092 =) BxMg 0] 8801 ZZMZIEE Sh=Cl,

oD 2% Jut Zo] 3 DellAl .

ABoll 2l 4400 2e Eet ahw e 7

AADES}F AADCO)A
ZAED=2C=90°,
ADE 3%,
2EAD=~/CAD

olm&  AADE=AADC (RHA &%)

uebs] CD=ED=z (cm)z} 5178 AABD2] Holo]A]

1 N T
5 X1TXz="3 X (15—x) %8

172=120—8z, 25x=120 .. zx=4.8
. BD=BC—-CD=15—-4.8=10.2(cm) B®

n,“ D e
=15 em-T

0093 =) $AM2 10| 501 2izkMZIsg SH=C},
o) 2% 19yt go] H PojA AC D¢
of Wil 4=419] w& Fa} s5pd APDA
o} APFAO0||A
Z/PDA=/PFA=90°,
PA: 35,
/PAD= /PAF
ojm&  APDA=APFA (RHA &%)
gt APFCeF APECOf|A]
ZPFC= /PEC=90°, PC:= 2%,
ZPCF= 2PCE
oluz  APFC=APEC (RHA §%
. APDA+APEC=APFA+APFC=APAC

zéxmxﬁzéxRxP_

=%X9><6=27(cm2)

& 27 cm®

0094 =& ABCD=ACBEYS 083101 ~CBD, ~BCEQ| 3
71E i,
#) AABCoJA] AB=ACo|m&

£ ABC= 2 ACB=1 x (180°—38°) =71°

. ZCBD=71°—33"=38" @
E ABCDS ACBEo|A

CD=AC—AD=AB—AE=EE,

#BCD= ~CBE, BC:= 3%
olm®  ABCD=ACBE (SAS %)

. Z/BCE=2CBD=38" e
wtab] ABCPe) A



<~ CPD=38"438°=76" “r @

= 76°

[ e Tual
© 2CBD2e 37|12 gt 4 ‘RAE} 0%
@sBCERlTigT@AQct | 0%
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